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Unit L:
Similar Triangles

Geometry 2nd Semester
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Sorry about the economy,

but I was never very good
at story problems.



Lesson 13-1: The SSS Similarity Theorem

Vocabulary
SSS Similarity Theorem: i 3 <ides on o ’momalf re
poportional o 3 S1A¢S on another Tnahalﬁ ﬂ/\m

W\Q )fYIOU’la\{S ave |similar
Ls means s the 2 As have the Sanmne

Practice
ongles & vatios of lengths are =
1. True or False. A triangle with sides 3, 4, and 6 is similar to a triangle with sides 8,
B, and 12.
Z N o
{9-0'6J ' 0'5, & 72 = 0.5
2. Use the given triangles below with the indicated sides and angle measures.

B Y

a) The ratios of which sides are equal?

20 _ 3 NO so a\l 3
2¢ 71, qz‘l.“\ &—E)‘G:I."l %S‘\c\es

b) Are the triangles similar?

¥es, by SSS Similarity  Theorevn
c) ABAC~ AYX L

d) Give the measure of each angle of AABC.

LAZING  ZB=19%, ZL=Mu.S°



Lesson 13-2: The AA & SAS Similarity Theorem

Vocabulary

AA Similarity Theorem: _IT_ 0 anal{’s 0f ohe ’manau’ Q¢
(g uerst 10 iwo ang 1¢S "ot anothey ﬂ\an the
)rvmm\tC (e Sl L

SAS SlmllantyTheorem K _in twe 1LY|ﬂmU’§ The ratiog o€ dwo
paiS_of comco(mc\ina Sidee ¥ e included angu_are
c&nuwm’r then o anmam art_Cimmlar.

Practlce

21°
40°
14 :
21 40°
22

1. Are the two triangles above similar? If so, why?

Ve, by AA Similavity Theorem

2. What is the magnitude of the dilation?

L\
ZL = .o or ‘ s

3. What is the other angle measure not given?

N9



70 cm

4, A meter stick casts a shadow 70 cm long while a tree casts a shadow 3.4 m long.
How tall is the tree?

| M X
FunoSag o ke[ lem|

A= 34
'—7 G—T
5. Are the following triangles similar? If so, why?
A D 70 705 E
40°
70° 7o
B C 405

Snee they ave both :
is0gces’ triangles, we know e base

(mglcs ave {q)ua |

Tren, by AR or GAS » Thm the
’rvmmcju% ave Simplav,



Lesson 13-3: The Side Splitting Theorem

Vocabulary

Side Splitting Theorem: I+ 0__\ihe, g paratlel 10 a Sid ¢
1t 4 triang(y b ontercecre the other 2 Sidug in

distinct Pomks it Splits thece Qides 0t proportinal
Sqments.

AP AQ
/_/\\ o5~ o

Side Splitting Converse Theorem: if a line m“frgeCj’S OP &
(R_at poidts X & Y o that <5 = T, then XYIIPQ

VAN
VRN

Practice
1. Suppose MN and ST are parallel and split the triangle into lengths as shown
below (in inches). R
140
. N 168 N\M
120 " 80’
T > 3 S
a) Find RN.
AM _pN MO . _ -
b) Find ST. ¢0 20

RM _ MN MO 109
RS ST 7 Z20°%ct 7 MO-ST=130,940
Ho iHo

ST=71p




2.

Is XV /I YZ? Why or why not?

o 12 x
3

yd \2Y

WX WY

N T N7

8-

72 3

4= M

Sinee  Thw Gides e propoynional ) by the

Side Splitting  Theorewn

XV/NTZ.



